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Ans.
Sol.

Ans,
Sol.

Ans,
Sol.

Ans.
Sol.

PART : CHEMISTR

Assartion : Thare s considerable incresse in covalant radius Trom N o P bul nol 5o from A5 1o Bl

Reason : Covalanl and lomc radil in particular cxidation stale increasa down the group.

{17 & = {alse but B & lrue

{2} Both A and R ara brue and R = tha correct explanalicn of A
{3) Both A and R ar true but R & nol the cormact explanation of A

141 A ks true bul R s lakse

(3)

Due 1o the presance of complately filled d-and! or Torbitals in heavier membars.

On mixing banzens and naphthalens freezing point
[2) Increases

{1) Decreasas
{3 Firstly decreases then incraases

4)

Banzane ard naphthalensa fonms ideal solulicn.

(4] Remams unchanged

Column-| Column-Il
{a) | =Cr= iy | 34"
) [ =M | (W) | o
(G I ]
{d} | =1Ca"™" (iv) | 35, 45

Salect the corract matching
(1} a-(im), b-fiey, c-{ii), d-{i)
{3} a-(i), B, =iy, d-ivh

(1

2aCr = [Ar] 3
sahdnt? = [Ar] 3dF, 457

Tyt

= [Ar] 3c8

2Co*Z = [Ar] 3d

Statement-| : Orbilals of same enargy are deganerala orbilals.
Statemant-ll : 3p and 3d orbilals in H alom are nol degenarate.
{1 Statemant L and Stalament || are correct.

121 Slaterment | is comrect and Statemeant I is incorrect

13 Staterment | s incorrect and Statement 1l s correct

{4 Statemant | and Statemeant || are incorract

(2)

Same energy orbilals are degenarala orbital

(2) a-{li), b-{ii), c-(i), d-{ii)
(4] a-{iv), b1}, c-{iid}, d-{ii)

In hydrogan atom: 3p and 3d orbstal have same anargy because lor H-alom E,=- 136 wZ By

daperds onanly n.

n-
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List-l List-l
(P} | HzO (i) | Bent
(@) | BrF- fii} | See-Saw
(R} | SF-: {iii) | T-shape
(S} | CIF; fiv) | Square pyramidal
(v} | Limear
Salact the correct malching
1) P, Q-{iv), R, S-(il) (27 P-{iv), Q-(w). R-{iii), S-4i)
{3) P-{v). Q-i). B-Liin). S-{iv) i4) P-(i). Qv R-{iv}, S-{iii)
Ans. (1)
Sal. Molacule Shapea Molacule Shape
F @ F
VA
(1) Benl 4] Br Sguare pyramidal
M
H H F"fj': ]
: i
(3 3" See-Saw (4) i - T-Shape
s |
| ~F F
F
6. Which of the following set of ions s diamagnetic?
(1) La*t: Ca™* (2} Nd*3, Ca** (3) Lu™d, Eu™® (4) Nd*?, Gd™
Ans. 1)

Sol. =la:[=Xe]bd' Bs®
saloe | [maXa] 40 54 Bs®
eaMil | [s4Xa] 41 6=
eaEuy ;| [seXe] 47652
2 : [zaXe@] 47 5d' Gs°
7l : [ssXe] 40 5d" G2

1. Statement-l : Reaction of a compaund on treatment with dil. FeS0e produces a gas which on passing
hrough lead acetate filler paper lums paper black _ It is confirmalory lesl for 5 acid radical.
Statement-ll : Lead sulphile i formed
(1) Statemeant | and Statement || are correct.

{2 Statemeant | is corect and Statamant |l is incormact
[3) Statermant | = incormect arnd Slatement 1 & cormect
{4) Statemant | and Slatement |l are incorect

Ans. (2]
Sol.  MNa:S{ag) + M50y (dil) » WNazS0{ag) + H=57
{CHaCOOE Ph + H=5 v PBS <+ CHaCOOH

{Black)
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B. Alurniriurm chilorde in acidiffed aguecous solution forms an ion with tha shape
(1] Telrahwadreal (2} Dclahedral
{3 Square planar 4} Trigonal bipyramsdal
Ans. (2]

Sol.  AICE in acidifed aqueous solution roms cclahadral [AIHOEF on.

8. The maxiriem number of molecular orbilals formed by 25 and 2patomic arbitals of two aloms ane
Ans,  (8)
sol. From 25 & 2p alomic orblials of two aloms Tollowing MO are formead

ABMO g™ o 2P T e, TLrn.

BMO : a25, a2ps, 200, 2P

10. al- + 2Mn0s + bHzO — s «MnOz + yIa + 20H
Determine vatua ol 2.

Ans,  (8)

Sol. 61 +2Mn0: = 4H:0 — ZMn0 + 313 + BOH

11. For a firsl order reaction
H—sP
conceniralion of A at 10 min:and 20 min is 0.04 M and 0.03 M respactively caloulale bz in minuke.
{Given @ log 2=03, log 3 ={.48)

Ans,  [24)
5 A
sol. K= 22810
L 5:‘3-']
0693 2303 (A ]
og—i= L (1)
T T
0.683 _-2.303
=== g gLﬂ-l .......... 2
tya | AN O3 2)
an solving
0.683 72304 0.04
==—==lug
L 0 " -003
lyz = 24 min

12. 250 mL salution of CHCOOMNa of molarity 0235 M s prepared. Whal is-mass of CHCOOMa reguired in
gram {rearest integer) 7 [Molar mass of CHaCOOMNa = 82,08 g/maol]
Ans. (7]
moles ol soluba

Sol. Molarity =
- o Volume (i) of sokition

— Fricles
T 25011000
.1
mobes = .35 = E =0.0875

massaf CHaCOONa=0087a 8208 =718 g
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13

Ans.

Sol.

14.

Ans.

Sal.

15,

Ans.

Sol.

16.

Ans.

Sol.

Tha number of alcm in sibver plate having area 0,05 o and thickness 0.05 cm is =10,
[Given density of &g = 7.9 gram/cm® and alomic mass of Ag = 108]
(11
Densily =
Y olume

mass al Ag deposiied = dansly * yoluimsa
= ¥4 = [[1.05 = 0.05] gram
= 0.015975 gram

197610 % §
———— ! -
e | 183 = 10

Mo, of Ag atom = [1.83 = 10-9] = .02 » 103
=11.071 = 10" alom

No. of mala of Ag deposited =

The alament with [UPAC name 'uncnunnium’ belongs o group of the periodic table
(11

Ununurmiom—111 {Lau)

Electronic configuration : [[..Rn] 564, 6d' 7

This alament balongs o d-block, ™ period and 11" group

Given Kap of MgiOH )z is 10-"" and [Mg*?] s 0.1 M, then find pH al which pracipitation will slart?
(2)
Kse = 10-17 = [Mg*?] [OH-F
or 10-1 = [0.1] [CH-JF
or [OH] = 105
ar pOH=50rpH =49

Find waork done in the following cyclic procass (in J)

4
o 30f ==
z
g
i
& 10t --
= : i .
10 3 Vdm?)
{200}
.1
W= 2 * base ® haight
1 2 .
= 5 w20« 400 = 200= (107" m)?
=200 J.
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1r.

Ans.

Sol.

18.

Ans.

Sol.

18.

Ans.
Sol.

20.

Ans.

Corect struclure of 4-Mathyl-pant-2-enal is.

/1\/\ 2] /\)\c HO
/J\f\m

Which of the following is mosl slabla.

™ LN
(3) @ (4) ﬁ
2

":2 15 aromalic spacies.

Statament-1 | Structure of allylic halida & CH=CH-CH—X.

Statement-ll | In-allylic halide, halkde atom is attached 1o-sg? hiybrid carbon
1) Both Statemant-1 & Statemenl-il are coracl.

(2] Both Statement-| & Statemeani-ll are incomeacl

(3} Statemenl-l is correct wheraas Statemeni-11 15 moorracl.

{41 Both Statement-1 and Slatameant-ll are incomradl.

(3)

[3) Statermeani-l s correcl whereas Slatemeant-1| 15 incomracl.

b

The final product "A® formead in the following reaclon sequeance ;

r

1. Mglether _

2. COH- i

3. NHaA

4. Bra/NaOH

CONHz MNH:z COOH Br
{1 U (2) ©/ (3) @ (4) @/
MH-

(2)
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Sol.

21.

Ans,

22,

Ans.

23.

Ans.

24,

Ans.

Sal.

r AgBr DOH OMH; Mz
=, oy =8 i

Structura of vinylic halide is

o CHa—X X -
:110/ nzaq mOﬁf HaOl
1)

Whal |s tha nams of glven reaction

&
&
Bl
S
Pl Baf
/1) Elard reaction (2} Staphen's reduclon
[3) Woll kishner reducton (41 Rosenmund reaclion

(4)

@—NH; = @—N; 8, Scarlet red, A and B are respaclively

CH
(1) A- NaNOZHE! (0-5°C) . B- @@f
(2) A - NaNOZHCI (0-5°C) ;. B- @—NI La/H?

(3) & - NaNO#HCI (0-5°C)

- B-Qﬂli
OH
(4) & — HNOa . E-@/

(1)

Which sugar doas nol give reddish brown precipitale with Fehling solulion

{1] Laciosa (2] Maltose (31 Sucrose (4} Glucosa

{3)

Sucrose donol have hemiacelal group. therefora i1 will nol preduce aldehyde group n solution, hanca
no pracipitale with Fahling solulion.
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“Ha i? HO
(Al (CHa—C)=0

25. T
[B] Sz ..-r"'
Aand B ara
(1) A=Cr0a ; B = CrO:Clz
(2} A= Cr0:C1 : B = CrOsCk
(3} A=Cr0n; B=CrDa
{4} A =Cr0:Cl; : B=CrOs
Ans. (1)
26. CH-C=CH —Ba_, X " CH:-C=C-CH;—CH3
Comectselof X and ¥ s :
(1] X =2-Bulana | ¥ = C:H:Br
(2] X = CH-C=C" | Y = CzH=Br
{3) X = CaHsBr | Y = CHa-C=C
{4} X = CH—C=C | Y = CH:-CH—CH—Br
Ans. (2]
Sol. CH-CsCH M, CHC=07 B L CH C=C-CH-CHs
27. Calculate Revalue, if solute travelled by 3.5 ¢m and solvanl Iravelled by 0.5 em.
Ans. T
Sol. Rrie. ratention [actor i the ralio of the dislance travellad by the compound as compared Lo the
distance movad by the selvanl
= Distance by solute _ 3.4 =
Dislance by solvent. 0.5
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